

THE WBSCARD BANK LTD.

THE WEST BENGAL STATE CO-OPERATIVE AGRICULTURE & RURAL DEVELOPMENT BANK LTD.

25D, Shakespeare Sarani, Kolkata- 700 017

PBX: 033-2287 1786 /1787/ 1788, 033-2280 6681

Managing Director: 033-2281-6774, FAX: 033-2287 7128 Email: wbscardb@gmail.com, wbscardb@dataone.in

NIQ No. 44/ Part-V/ Admn./ 1511

Date:16.11.2019

ABRIDGED NOTICE INVITING QUOTATION (NIQ)

Sealed Quotations are invited from the bonafied, resourceful & experienced Civil Contractor Agencies / Engineering Concern having requisite expertise & adequate experience for the under mentioned works to be undertaken at the RICMARD Building of The W.B State Cooperative Agrl. & Rural Development Bank Ltd.(The WBSCARD Bank Ltd.), 3, Sarat Bose Road, Hakim Para, Siliguri, Dist - Darjeeling as per Technical Specifications & Schedule / Scope of Works as detailed in the <u>ANNEXURE-1</u> attached herewith The Quotationers / Bidders shall have to follow up necessary broad terms & conditions appended below.

Nature of the Works: Urgent Civil Works relating to repair, renewal, renovation/ up-gradation & partly new construction of the existing 1st Floor (Part) at the left side of the RICMARD Building of The WBSCARD Bank Ltd. at the above location of RICMARD Building of The WBSCARD Bank Ltd.

Eligibility of the Contractor: The intending Tenderers should possesses Experience certificate on execution of the similar nature of works in the field of field of Civil Engineering works having sufficient & satisfactory credential and clearance certificate of PT, ST & IT.

The following Broad Terms & Conditions alongwith Scope/Schedule of Works (Annexure-I) to be followed:

- Quotation rate at percentage below or at par the rates to be quoted in figures as well as in words in the Letter Head of the Company over the Estimated cost / Value of work put to the Tender (Rs.83,068.00) as per Specific Priced Schedule of probable items of works shown in the <u>ANNEXURE-1</u> (Enclosed) which must reach to the District Manager, Darjeeling Branch, The WBSCARD Bank Ltd., RICMARD Building at 3, Sarat Bose Road, Hakimpara, Siliguri under sealed cover.
- 2. Intending Bidders must inspect the above mentioned work-site before submission of their Tenders/ Quotations.
- The Quotationers may visit the <u>Official Website</u>: <u>www.icmard.org</u> of the WBSCARD Bank Ltd. for obtaining the details of the aforesaid NIQ.
- 4. The rates are inclusive of all Taxes & Duties, transportation/delivery charges and other incidental charges etc. and GST would be allowed separately as per prevailing norms.
- 5. All the Tools and Plants at Site shall be arranged by the Contractor at his own Cost.
- The authority shall have the right to direct execution of any item beyond schedule of work as may be found necessary for the job or reject any item of work depending on suitability during execution of works.
- The Authority of the Bank reserves the right to reject any or all the Quotations received without assigning any reasons thereof and also is not bound to accept the lowest tender offered.
- 8. Time of completion of the whole work will be 15 days from the date of issue of the Work Order, failing which the order would be treated as cancelled.
- 9. A Security Deposit @ 8% of the Bill amount will be deducted and retained at our end and same would be released after 6(Six) months from the date of full completion of the whole work subject to satisfactory performance of the job. Such Security Deposit will not accrue any interest.
- 10. The Bidders must furnish with the quotations the copies of documents/certificates of GST/PAN/TAN as per prevailing rules and payment on this score will be deposited with the authority concerned.
- 11. The Quotations must be valid for a period of at least of six months from the last date of submission.
- 12. The sealed cover of Quotations should be superscribed as "Quotation for Civil Works relating to Repair, Renewal & Renovation of the 1st Floor(Part) of the RICMARD Building of The WBSCARD Bank Ltd.".

Contd/-....

Copta

Email of Purulia Branch: purulia.wbscardb@gmail.com; Email of Darjeeling Branch: sillguri.wbscardb@gmail.com; Email of ICMARD, Ultadanga: icmard.kol@gmail.com



THE WBSCARD BANK LTD.

THE WEST BENGAL STATE CO-OPERATIVE AGRICULTURE & RURAL DEVELOPMENT BANK LTD.

25D, Shakespeare Sarani, Kolkata- 700 017

PBX: 033-2287 1786 /1787/ 1788, 033-2280 6681

Managing Director: 033-2281-6774, FAX: 033-2287 7128 Email: wbscardb@gmail.com, wbscardb@dataone.in

(Page-2)

- 13 . Mode of measurement , specification and execution of the proposed works shall be governed/guided by PWD Schedule of Rates effective on & from 01.11.2017 and for any addition or alteration / substitution of works , the said PWD Schedule of Rates will be considered as part of the agreement for successful Bidders / Quotationers.
- 14. Payment would be made on the basis of actual physical measurement of quantities of work actually executed as per site condition and accepted rates after satisfactory completion work; Statutory deduction like IT etc. would be made from the bill as applicable and contract terms shall be followed as per prevailing practice of PWD, Govt, of W.B.
- 15. Quotation which does not fulfill any of the above conditions or are in complete in any respect, are liable for rejection.
- 16. Any other work beyond schedule of work, if found necessary, to be done on compulsion and rate would be fixed as per current PWD schedule/market rate analysis.
- 17. The Priced Schedule of Works (i.e Annexures -I) to be signed & to be supported with a separate Letter Head Pad of the Agency.

18. The last date & time of receiving the Quotation is 22.11.2019 upto 5 p.m.

General Manager (Admn.)

Date: 16.11.2019

Memo no.: 44/ Part-V/ Admn./ 1511/1(4)

CONTROL VALUE AND AUGUSTON SERVICES TO A SERVICE SERVICES AND A SERVICE AND A SERVICES AND A SERVICE AND

Copy forwarded for information and necessary action to:

- Miss Sanchari Mitra , Manager & AFM, ICMARD with the request to upload this NIQ in the Official Website
 of The WBSCARD Bank Ltd.: www.icmard.org
- 2. Display on the Notice Board of the RICMARD, The WBSCARD Bank Ltd.
- 3. Display on the Notice Board of the H.O of The WBSCARD Bank Ltd.,
- 4. Display on the Notice Board of the ICMARD, The WBSCARD Bank Ltd.

General Manager (Admn.)

ABSTRACT OF ESTIMATE FOR REPAIRING, RENOVATION & UPGRADATION WORK AT 1st FLOOR OF RICMARD(Rented Portion) of WBSCARDB Ltd. AT 3, Hakimpara, Siliguri.

(As per PWD, WB schedule of rates w.e.f 01.11.17)

Annexure - I Price Schedule With Scope of Work As Per NIQ No.44/Part-V/Admn/1511 Dt.- 16/11/19

SI No.	Description of Item of works	Unit	Quantity	Rate	Amount
01	125mm th. Brick work with 1 st class bricks in (1:3) cement sand mortar. (a) In 1 st floor.	Sq.M.	11.58	710.00	8221.80
02	Hire & labour charges for shuttering with centering and necessary staging upto 4m using approved stout props and th. hard wood plank with required bracing for concrete slab, beams and column. (a) 25mm to 30mm th. wooden shuttering. (i) In 1 st floor.	Sq.M.	0.6	346.00	207.60
03	Reinforcement. (a) Non SAIL/TATA (i) In 1 st floor.	MT.	0.0050	57651.00	288.25
04	Ordinary cement concrete (1:1.5:3) with graded stone chips(20mm) excluding shuttering, reinforcement, if any. River bazree 1st floor	Cu.M.	0.03	5046.00	151.38
05	Plastering to wall, floor, ceiling etc. with sand cement morter including rounding off or champhering corners as directed	Sq. M.	21.60	181.00	3909.60
06	Taking out door shutter and rechanging the same by fixing aluminum sheet (0.457mm) with proper nail etc. all floors.	Sq.M.	0.7	603.00	422.10
07	Taking out door window shutters and rechanging the same with old fittings. (a) With new iron screw	Sq.M.	5,61	78.00	438.05
08	Wood work in door window frame fitted fixed in position complete including a protection coat of painting at the contact surface of the frame,				

contd. on P=2

ABSTRACT OF ESTIMATE FOR REPAIRING, RENOVATION & UPGRADATION WORK AT 1st FLOOR OF RICMARD(Rented Portion) of WBSCARDB Ltd. AT 3, Hakimpara, Siliguri.
(As per PWD.WB schedule of rates w.e.f 01.11.17)

	(As per PWD, WB schedule of	4,000		04000 00	2224 27
	(a) Sal, Siliguri. (Extra 200/- per sq. m. upto 4 th floor)	Cu, M.	0.0292	81893.00	2391.27
09	M.S. clamp for fitting & fixing doors and windows frame made of flat bend bar, end bifurcated, fixed on cement concrete with stone chips(4:2:1) fitted and fixed complete direction (cost of cement will be paid separately) (i) 40 mm X 6 mm above 170 mm to 250 mm length. (Concreting will have to be done for equivalent thickness of two brick layer of brick work	Each	2	20.00	40.00
	and for the entire width of the wall. No deduction on brick work will be made.)				
10	fixed with steel screws with ISI marks. (i) 75 mm X 40 mm X 1.7 mm	Each	8	31.00	248.00
11	Anodised aluminum D-type handle of approved quality manufactured from extruded section conforming to IS specification(I.S 230/72)fitted & fixed complete. (i) 125 mm grip X 10 dia.	Each	-1	95.00	95.00
12	Supply 'Godrej' mortice lock chromium plated with latch & keys, 4 leavers, including fitting & fixing complete.	Each	1	1081.00	1081.00
13	Panel shutter of doors & windows as per design(each panel consists of single plank without joining), including fitting & fixing the same in position but excluded the cost of hinges and other fittings. (In case non supply of single plank, penal rate of reduction of 20% will be made). Other Local Wood. (i) 40mm th. shutter with 19mm th. panel of size 30cm to 45cm. (a) 1st class best Indian Teak Wood. Rly. Type button, rate will be reduced 20/-	Sq.M.	1.63	3952.00	6441.76
14	Supplying fitting & fixing 1 st quality ceramic tiles in wall and floor to match with the existing work & 4 no of key stones(10mm) fixed with the araldite at the back of each tiles and finishing the joints with white cement mixed with coloured oxide if required to match the colour of the tiles including roughing of the concrete surface if necessary or by synthetic adhesive &				

ABSTRACT OF ESTIMATE FOR REPAIRING, RENOVATION & UPGRADATION WORK AT 1st FLOOR OF RICMARD(Rented Portion) of WBSCARDB Ltd. AT 3, Hakimpara, Siliguri.

(As per PWD, W	B schedule of	rates w.e.f 01.11.17)
----------------	---------------	-----------------------

	grout materials.				
	(A) Floor (a) Area of each tiles upto 0.09 Sq,M. (i) Coloured decorative in 1 st floor (B) Wall With sand cement morter(1:3) 15mm th. & 2mm th. Cement slurry at back of each tiles using cement @ 2.91 Kg/Sq.M. &	Sq.M.	9.02	739.00	6665.78
	joints filled using white cement slurry @ 0.20 Kg/Sq.M. (b) Area of each tiles upto 0.09 Sq,M. (i) Coloured decorative in 1st floor.	Sq.M.	3.42	746.00	2551.32
15	Copal varnish of approved quality including preparing of surface. (i) On new woodwork (a) Two coats (ii) On old varnished surface including removing of old varnish and exposing	Sq.M.	6.04	184.00	1919.12
16	original surface, Two coats	Sq.M.	10.99	252.00 110.00	2769.98 2376.00
16	Rendering the surface with wall putty(1.5mm)	Sq. M.	21.60	110.00	23/6.00
17	Applying interior grade acrylic primer of approver quality and brand on plastered or concrete surface old or new surface to receive Distemper/Acrylic emulsion paint including scraping and sand papering the surface thoroughly complete as per manufacturer's specification and as per direction. (a)One coat (i)Solvent based interior grade acrylic primer. In 1 st floor	Sq.M.	257.77	34.41	12310.86
18	Applying Acrylic Emulsion paint of approver make & band on wall and ceiling including sand papering in intermediate coats including putty. (Two coats), all floors. (i) Standard quality	Sq. M	257.77	62.00	15981.74

"cordd, on 8=4

ABSTRACT OF ESTIMATE FOR REPAIRING, RENOVATION & UPGRADATION WORK AT 1st FLOOR OF RICMARD(Rented Portion) of WBSCARDB Ltd. AT 3, Hakimpara, Siliguri.

(As per PWD, WB	schedule of rates	w,e.f 01.11.17)
-----------------	-------------------	-----------------

19	Painting with ready mix Black Japan of approved make and band including smoothening of surface. (ii) Two coats.	Sq.m.	98.28	56.00	5503.68
20	Grinding to marble/mosaic floor including remaining stone if necessary after cutting with manual labour/machine where necessary. In 1st floor	Sq. M.	98.11	22.00	2158.42
21	Renewing knobs of steel window frame including fixing with steel casement by welding or riveting as directed including painting complete.	each	5	33.00	165.00
22	Renewing one point steel window (oxidized) of steel door and window as directed including painting complete.	each	4	61.00	244.00
23	Renewing hinges of steel shutter including taking out of old one by cutting and fixing new hinges by welding and mending good damage complete.	each	4	190.00	760.00
24	Supplying, fitting & fixing CPVC pipes in position of approved make conforming IS 15778- 2007, with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbow, nipple, long screw, reducing socket, reducing tee, short piece etc. fitted with holder bats, clamps including cutting piece etc. complete in all respect including cost of necessary fittings as required, joining materials in any position above ground.(payment will be made on centerline measurement of total pipe line including ball specials.) b. For conceal work: CPVC pipe, Class – I, SDR – II Dia. 15mm	Mtr	20.00	140.00	2800.00
25	Supply of UPVC pipes & fittings conforming to IS 13592-1992. (A) (i) Single socket 3 Mtr length. (a) 75 mm dia.	Each	1	196.00	196.00
	(C) Bend 87.5	LOUIS		200.00	250100.
	(a) 75 mm dia.	Each	2	61.00	122.00
	(E) Reducer 110 mm X 75 mm - 75 mm	Each	1	80.00	80.00
	(F) Reducing Tee 110mm X 75mm - 75mm	Each	1	142.00	142.00

Carta, on 8=5

ABSTRACT OF ESTIMATE FOR REPAIRING, RENOVATION & UPGRADATION WORK AT 1st FLOOR OF RICMARD(Rented Portion) of WBSCARDB Ltd. AT 3, Hakimpara, Siliguri.

(As per PWD, WB schedule of rates w.e.f 01.11.17)

26	Supplying fitting & fixing peet's valve fullway gunmetal standard pattern best quality of approved band bearing ISI marks with fittings(pressure tasted to 21kg/sq.cm.) (i) 15 mm dia.	Each	1	521.00	521.00
27	Supplying fitting & fixing white vitreous chainaware best quality approved best quality wash basin with C I brackets on 75 mm X 75 mm X 75 mm X 75 mm wooden block, C P waste fitting of 32 mm dia, one approved quality brass CP pillar cock of 15mm dia, C P chain with rubber plug of 30mm dia, approved quality PVC waste pipe with CP nut 32 mm dia, 900 mm long approved quality PVC connector pipe with heavy brass C P nut including mending good all damages and painting the brackets with two coats of approved paints (i) 630 mm X 450 mm Size	Each	3260.00	1	3260.00
28	Supplying fitting & fixing bib cock or stop cock. (i) Chromium plated angular stop cock with wall flange (equivalent code no 5053 & model no Florentine of Jaquar or similar brand)	Each	3	815.00	2445.00
29	Supplying fitting & fixing approved band PVC waste pipe 32 mm dia. With PVC coupling at one end and fitted with necessary clamps. (i) 750 mm long	Each	1	59.00	59.00
30	Supplying fitting & fixing approved band PVC connector, white, flexible, with both end coupling with heavy brass CP nuts, - 15 mm dia. (i) 750 mm long	Each	3	117.00	351.00

Civil work

Rs.

83068.49

contd. on P=6

ABSTRACT OF ESTIMATE FOR REPAIRING, RENOVATION & UPGRADATION WORK AT

1st FLOOR OF RICMARD(Rented Portion) of WBSCARDB Ltd. AT 3, Hakimpara, Siliguri.

(As per PWD,WB schedule of rates w,e.f 01.11.17)

Say Rs 83068.00

(Rupees eighty three thousand sixty eight only)

GST at the prevailing rate will be applicable separately on final bill amount, which is 12% at present.

I/We hereby accept all above terms & conditions as laid down on NIT bearing no.44/Part-V/Admn/1511

Dated- 16/11/19 and I/We also offer the tender rate @ % (Below or at per) over the above Estimated Cost/Value of work of Rs 89812.00to carry out the job in terms of the above (rpce Schedule.

(Rates are as per PWD, WB Schedule of Rates w.e.f. 01/11/17)

Signature of the Authorised Signatory with date & official seal